Dividing Roman Numerals (C)

10.

Answer each question in Roman numerals.

. MMCDXC + LXXXIII

. MXCVI + CCLXXIV

. CDXXVII + VII

. MMDCXL + LXVI

. MDXXXVI + CXCII

MMMDLXXX + CLXXIX

MDCCLXIV + CXCVI

MMMCCLXIV + LXIV

. CML + XXXVIII

MMMCXXVIII + CCCXCI

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

MMLII + XXXVIII

MCCCL + XXVII

MMMDC + LXXX

XLIV = IV

MMCXCVII = CLXIX

MMMCCXCIV =+ CCCLXVI

MMCCCXII + LXVIII

MLXXXIX + XXXIII

MMMDCLXXX + XCII

DCCCIV + LXVII
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Dividing Roman Numerals (C) Answers

10.

Answer each question in Roman numerals.

. MMCDXC + LXXXIII

= XXX

. MXCVI + CCLXXIV

=1V

. CDXXVII + VII

= LXI

. MMDCXL + LXVI

= XL

. MDXXXVI + CXCII

= VIII

MMMDLXXX + CLXXIX
= XX

MDCCLXIV + CXCVI
=IX

MMMCCLXIV + LXIV
= LI

. CML + XXXVIII

= XXV

MMMCXXVIII + CCCXCI
= VIII

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

MMLII + XXXVIII
= LIV

MCCCL + XXVII
=L

MMMDC + LXXX
= XLV

XLIV + 1V
= XI

MMCXCVII = CLXIX
= XIII

MMMCCXCIV + CCCLXVI
=X

MMCCCXII + LXVIII
= XXXIV

MLXXXIX + XXXIII
= XXXIII

MMMDCLXXX + XCII
= XL

DCCCIV + LXVII
= XII

Math-Drills.Com




